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PART A 

1. Consider a small economy producing goods X and Y with 20,000 units of a single factor of production, labour. Assume that the technology available in this economy can be expressed through the following production functions for X and Y, respectively: 

Qx = 1/40 Lx 
Qy = 1/10 Ly 

a) (1.0) Determine the analytical expression of the Production Possibilities Curve of this economy, and represent it graphically. 

b) (1.5) Assume that in the "Rest of the World" Px / Py = 1.5, and that the consumption of X in country A under free trade is 150 units. Calculate the level of imports and exports of country A, and illustrate your results graphically. 

c) (1.0) Assume that productivity increased 300% in sector X. Which impact would this have in the pattern of economic specialization of country A? Explain. 


2. (2.0) Under the Ricardian model, consider three countries (A, B and C) with the following opportunity costs of X (in terms of Y): 
(COx)A = 5 
(COx)B = 8 
(COx)C = 14 

If countries start trading with each other, say whether you agree with any of the following statements. (Explain all your answers).
a) A and B will specialize completely in X. 
b) A, and possibly B, will specialize completely in X. 
c) The international relative price will be between 8 and 14. 
d) The international relative price will be between 5 and 8.



3. (2.5) Discuss the following statement: "There are reasons for believing that the owners of the specific factors of each of the two sectors of the economy will have opposing views about free trade." (Note: develop your argument assuming that the economy is abundant in labour.) 

4. (3,0) What leads to intra-industry trade according to Krugman’s model? Explain, illustrating your answer graphically.
    
PART B 


5. a) (1.0) During the debate on NAFTA (North American Free Trade Agreement), American opponents argued that the U.S. gains that would result from this Free Trade Zone would be lower for the U.S. than for Mexico, because of the relative size of the two economies. Comment on this view.. 

    b) (1,0) "In the negotiation of NAFTA, a particular concern was the definition of rules of origin, because the U.S. had lower tariffs than Mexico for many goods imported from countries that remained outside the agreement." Comment on this assertion. 


6. (1.5) Consider the following information, and determine the rate of nominal protection of the final good: 
   
  - The domestic value added of the good is equal to 40% of the value of the final good; 
  - The sector has an effective protection rate of 112.5%; 
  - The customs duty levied on the imported intermediate good is 8%. 

7. (2,5) Taking into account the theory of economic integration, comment on the following statement (note: illustrate your answer with a graphical analysis): 

"A country should choose a way of reducing non-discriminatory trade barriers rather than integrate into selective coalitions of regional integration" 

8. (3.0) "There are some arguments that tariffs on imports may improve the welfare of the country that applies them, but none of those arguments can guarantee that that will happen for sure." Do you agree? Explain.
